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1. If more scores are clustered toward the low end of a frequency d15tr1but10n and only a few scores
 are at the high end, then the distribution is . | ' , )

A)' negatively skeWed B) positively skewed C) multimodal | D) unimodal

Ly
" 2. Which of the follomng regressmn dlagno\st%_ei(po g is sed to study the poss1b1e presghce of

multicollinearity? . _ CJ—T'
A) Scatter diagram  B) Residual plot i

. 3. Interaction exists in a multiple regression mode] when:

orfelation matrix D) Durbm—Watson test

A) one independent variable effects;ﬁe relaﬁons_hjp between another independent variable and the

dependent variable.

' ' - L - . * > r—
B) the regression model is overall 1n51gn1ﬁr§'__é'n -

| C) multicolliﬁearity is present in a regressjon P@;Q_H'T]'.
D) a polynomial model used. | a—
B

4. In one city, 20% of adults smoke. In groupe of size 100 of adults, what is the variance of the

number that smoke ?

As B)16 020 D36

5. If the results of an experiment using onesmay—AcN Y Wefe summarized as F(2, 28) ,=.2.7‘9,
p—value > oc—O 05 then you would lqmm h{' ‘ - and was . . -
“A) Py = Mg 5 not reJected - By, = ;J.de L O = = K3} rejeeted

- D) = M2 s not regected
6. The sum of the resxduals when using.a least-squares regressmn line is

- ‘A) equal to the variance of the Y variable . B) normaily d13tr1buted around the mean of X

C)'equal tozero .. | rmally dlstnbuted around the mean.of Y
7. 1f scores are measured ona nommal scai‘E‘thgl a5t measure of central tendency for the scores
is the - '
" A) median _B)mean o ,C) mode - D) ce‘rre@ation coefficient

8. A standard error of the mean is a standard deviation _ef a _
. A) population mean = B) sampling disﬁribﬁtion of the inean C) population
D) sample S ‘
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9. Inanormal distribution, what i)ropc’)rtio'n of scores fall within the initerval between the mean to
~ one standard deviation above the mearn? |
; A) 08413 - B) 0.1359 C) 0.6826  D)0.3413

10 The probabﬂlty functlon for random Varlable X is spec1ﬁed as: f{(X)= XflO for X = 1,230r4
" The expected value of X is

4)2.000 | B)2333 _ j f)sooo S D)'3.5'oo

. 11.Aftera linear forecastmg model is found f“ or & time Series, if the Durbm-Watson stat1stle 1s 1. 98
" this means that: _ 7
A) no positive autocorrelatmn eX_l.StS a nonlinear model should be tried.
B) posmve autocorrelation ex1sts anonlinear model should be tned
0 pos1t1ve autocorrelauon emsts the lmear- od,el—m adequate
- maodel is adequate.
r ‘

rehsia histogram is used to present data.

© D) no positive autocorrelation exists, the Ji

© 12. A bar graph is used to present de
A) qualitative; quantitative ~ B) statistical; population - C) coﬁt‘tnuous; discrete

D) quantitai_:ive;' qualitative '

13 If the correlation eoefﬁc1ent for variables X and Y is zero, thenthe - .
A) reg'ressmn equatlon will predict Y eX’a‘CTfX B)‘?}an of X will be higher than the mean of Y

C) Y—mtercept is equal to 1.0 .._i !15 est prediction of Y is the mean of Y -
......_J

; 14 The student t distribution varies w1th
' A) range of values in the sample B) value of the sample variance

C) value of the sample »mean D) size of the sample

15. If cars arrive to a service center ratldontly and indepeﬁdently at.a rate of 1 car per hour on
average, what is the _probability of 0 cars‘“a"rrl given hour'? (e 2. 7183)
A) 0.0067 ; B) 0.1755 '_.._, E“ E679 - D) 0.5000

' ‘ *“" —
16. Which of the following statements is co"“sct‘f"“"'*""

A) The lower the confidence level the smaller the confidence interval.

B) The greater the populat1on variance, the smaller the confidence interval.
.C) The higher the confidence level, the smaller the confidence mterval

D) None of the above. ' '
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17. A percentile is .

' A)-alrvays the midpoint of a class, interval
" B)a score at or above which a specified percentage of the scores in a drstrlbutlon fall
' C) a score at or below which a specrﬁed percentage of the scores in a. dxstr1but1011 fall

D) the percentage of scores in a d1str1but10n ethal r‘ﬂgr greater than a particular score

18. If we are testing for the. difference between of two paired populations with samples of
m= 20 and n, = 20, the number of degr .9,5 eddo -
Ayl - B)39 | C)38 . D)18

is equal to:

" 19 Representatweness of a sample is prmcrpally determined by the
A) symmetry of the populatron d15tr1but10n . B) method of sarnplmg used

- C) standard error of the mean. =1 D) size of the sample
. . ‘____ e " ’ .

20. A and B are mutually exclusive outcorﬁe 1
p(B)=0.13. The p(A or B) then equalj
A) 0.03 o B)o'.'37 | S OL8s D)0.11

- B (# 30§} &5 5) o . |
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1. Significant Level o - : 2 Populmﬂ“ 3. Variance Inﬂatmnary Factor

4. Sum of Square for Error 5. Treatmelnl ?ffe t 6 Best Linear Unbiased Estlmator
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Y=B0+F31X+'B_2X2+E

mrTba Iilitydistributioﬁ. The p(A) = 0.24 and the '
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1 Regression Statistics- . ANOVA
Multiple R 0.994
| R Square -+ 0.988
Standard Error 12.42

, Res1dua~_1_}
Observations 12,

Total

Regresamn _.__l R

g

HEE THIE=E -

MS F
57573 373
154 K

S8
115145
1388
116533

Cdf Sig.

0.0001
=

- Coeff
286.42
-0.31
0.000067

Intercept
Price
Price Sqare

0.06
0.00007

Std?;@ ;\.5 -J | —J

Pvalue
0.0001 .
0.0006
0.3647

t Stat
29.64
-5.14
' 0.95
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Chi-Square T est
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v?=41.6667 -
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